


idding Understandings
i Misexplanations and Misbids
2. When to correct

onvention Disruption
amples from actual play

pte the Principles for every TD ru



orrect, misleading or incomplete
Bidding eg Alert or failure to alert
Play eg 47E telling wrong opponent to lead

n Call (or Misbid)
ntentional

consistent with agreed method
Misunderstanding or Forgetting

n from System

consistent with agreed method




istaken explanation or a mistaken call often leads to unaut
ormation(Ul). A psyche that is not unexpected by partner mz
an adjusted score

,21& 40
e how, when

: who and what of explanations, convention car
nouncing, asking and answering questions about system

tnership understandings - explicit & implicit 40A1(a)

Be wary of '"no understanding or agreement* statements from e
partnerships in routine situation

Principle of “full disclosure”
e certain rights to Regulating Authorities




A pair who describes their 2% opening as 5-5 in heart
|d be guilty of misexplanation if their agreement incluc
4 card minor suit. However opening with 5-4 in certai
(such as in 3rd seat) is general bridge knowledge.

IF there is only partial disclosure this is an infraction:

An explanation such as “Bergen” is not acceptable. T
n is, for example, “7-10 points with 4+hearts, says not




0 deviate from system

an lead to Ul, or sanction for repeated misuse of ag

E: South opens 2 ¢ with a long weak diamond suit. North cc
multi. South forgot. The bid is not an infraction. No adjust
, the alert passes Ul. To take advantage is an infraction anc
usted score.

E: South opens 2 ¢ with a long diamond suit. North forgets :
i. Now the explanation is incorrect. This is an infraction anc

Agaln




en bid if there is any doubt
players cannot agree, or there is no evidenc

stem. Evidence is not limited to convention
d system notes.

eg previous use of the understanding can
evidence

eighted adjustments are common followin
misinformation.




claring side — after the final pass (before the
ening lead is faced) L.avw 20F 5 (b)(11)

fending side - only after play of the hand ha
Bellided. Law 20F 5(b)(i)




judges that the call may have been influence
information

players away from the table — asking why anc
want to call now and what call they would ha
er without the Ml

awn calls become
orised information (Al) to non-offending side;
thorised information (Ul) to offending side Law 16C




V U C V'V J U Cl \_J

\ withdrawn Pass is Ul for NS but Al for EW Law 16C

pens 1INT . East passes. Partner announces 15-17. South bid
embers they are playing 12-14 NT so corrects the previous
tion. West has not bid subsequent to East's pass, so East ¢
If East still passes, South's 2& bid stands and the bidding
. If East changes, South may change, with no other rectifi

\ withdrawn Pass or 2& bid is Ul for NS, Al for EW

ays 3NT. East leads face down. South says partner gave a
tion. The last defender may withdraw their pass and subst
0, the face-down lead is withdrawn and bidding continues.




stakenly inform an opponent to lead
e a wrong explanation of a carding agreement
e incomplete or partial disclosure of carding agreem

aving any signaling agreement is not allowed, especia

ienced partnerships, where implicit understandings h
2d.







Board 13 aAl4

North Deals vK4

Both Vul +8654
10972

AaK8653
YA10532
+ 10
&AS5
4Q972
v97
¢+ AK973
a8
West North East South
Pass Pass 1 ¢!
242 Pass 3 NT Pass
49 All pass
4% by West
Made 4 — EW +620
! 14 better minor

2 East explains 24 as natura

~
"y
- e w

- 5

& 10
vyQJ86
+QJ2
&#KQ643

eraru
e not happy and call the TD.

ay 4¥ makes on any lead.

r: 2¢ shows both majors,
is natural is the correct explanat

th cases, the opening lead we
down, and the explanation w




S our job to consider what the playé
ot. You may be called for one infra

It is your duty to consider all as




gjical Alternative (LA) after a misexp

West has no reason to do other than PASS
Unless they have used information from the differe

Board 13 aAl4
North Deals vK4

Both Vul +8654 | Against 3NT South has an

#10972 automatic small diamond leac
aK8653 410

vA10532 b vQl8s which leads to at least down ¢

¢ 10 YRR ~ diamonds, three spades and ¢

275 £KQ643 | heart), and down five is fairly
+Q972 possible (If declarer keeps th

va7
 REBuE second).

*)8 The correct explanation is
West North East South Diamonds'"'.
Pass  Pass 14! . .

242 Pass  3NT Pass The normal lead is a spade, w
4% All pass j

4% by West

Made 4 — EW +620

114 better minor

2 East explains 24 as natural, diamond suit. (West thought 24 showed both majo

- e .
.




«aK10632
Board 8 v9
West Deals +K974
None Vul &K84
4987
vyAQS85
+ 10
& A10632
& AS54
vyKJ103
¢+ AQJ65
9
West North East South
CHN ITA CHN ITA
Pass Pass Pass 1INT
282 Dbl? 2y Dbl
All pass
2 ¥x by East: Lead 9% Down 2
At other table: 46+1 on #Q lead

1: West & South(SW) Clubs + M

East & North (NE) both majors (correct explanation)

2: If 2 is w+Mthenxis TO
If 2 is M+M then x is penalty of one major

ay then bid spades to play in 5/4 {

4 or even 5 spades in West. 10 0
n spades is easy. Also with correc
ation | would not double 2% and

lead problem: If North’s double
5, | would lead a spade. My club lez
W an extra trick. TD decision?




-

s may lead to different Law applications -

£~

xplanation according to th
ystem, thus no damage ca
2ver be considered. On the ¢

and, South received the w
o)ne, but his bid would not
hange: he would double fo
yenalty instead of doubling
ake-out, with exactly the sz
esult.

esult stands

&2

«K10632
Board 8 v9
West Deals +K974
None Vul K84
4987
vyAQ85
+10
&#A10632
& AS54
vyKJ103
¢+AQJ6S
49
West North East  South
CHN ITA CHN ITA
Pass Pass Pass 1INT
2 &t Dbl? 2y Dbl
All pass
2¥x by East: Lead 9% Down 2
At other table: 44+1 on #Q lead

™




- Board 2
East Deals
N-S Vul

& AK54
vKJ832
+ Q4
* A4

& 110982
vQ76

¢+ A105

& 92

a7
vy1094
982
& QJ8765
West North East South
Pass Pass
iv 24 2 Pass
3vl Pass av
4% by West: Lead &3
Result: 4v= Score EW -420
Result at other table: 4¥+1 by West -450

All pass

ajors.

s that correct explanation is that 3% is natural.

est that explanation should be corrected before opening le




ecide which lead to assign?

OLUTE

ABS

. -~

h some bridge knowledge should still consult an exp
ne other bridge play factors before making a ruling




¢AJ6532
&#KQ1074
& 1098753 4 KJb
vyKQJ52 vyAl10873
+8 ¢+ K10
&6 &#952

West North East South ) B :
14 1v 2 & 3NT —explained as “to play” by both sides

N > 254 - NE slam try, control in diamonds. Support in diamonds
3N S Pass 5+ (Correct Explanation: agreed by North - slam try with support in diamonds)
S5y 7% Pass Pass ' -

7Y Dbl All pass
Result: 7 ¥x by East Down 3 - EW -500

that ¢ A was before him, he would double 74 not only
would not make but also to prevent partner from sac




s clear to all from the outset the real meaning

isinformation influencing the auction

¢AJ6532
&#KQ1074
# 1098753 4 KJ6
€ various calis (orrer o vyKQJ52 vyA10873

e correct 5 ¢ explanati j  ¢8 ¢+ K10

. &6 »952
nd ask: "

What actions do you : v964

consider?” +Q974
: &#AJ83

terviewing experts, anc g West North East South

eing open to all results. 1¢ 1y 24
e AP AP 3N? S5& Pass 542

Sy 7% Pass Pass
7Y Dbl All pass
Result: 7 ¥x by East Down 3 - EW -500

v e

o . *




¢+AJ6532
&#KQ1074
& 1098753 4KJb
vyKQJ52 vyAl0873
+8 + K10
&6 &952
a A4
v964
+Q974
&#AJ8B3

West North East South
1¢ 1v ) & :
2&? 5¢ All pass B  Denies4 spades

Result 54 by,North +620 2 poth sides —natural

- W WNCOR

r NS did not get to their minor suit slam.

ctor about the psyche.




¢AJ6532
&#KQ1074

&aKJb6
vyAl0873
+ K10
&#952

& 1098753
vyKQJ52
+8

&6

& A4
v964
+Q974
A#AJ83

West North East South
1¢ 1v 241

4v 5¢ X All pass
Result:5¢x by North +1 =+950

Result at othertable:5¥x-2 by East +300

! 2¢, SWinverted (correct explanation) NE no alert




¢AJB6532
&#KQ1074
& 1098753 & KJ6

V U ) Cl Yy Ul YAA S
ould automatically remove it. vKQl)52 YA10873
+8 ¢+ K10

ot, pass would be considered
st a serious error, but one of t . %6 #952

orst ever seen.

ust supposing that EW do play

tone-age bridge, consider a lac

elf protection. By definition, t

lepends on the level of the pla

ertainly yes if it is the Bermudz West North East South

3owl, perhaps not at lower leve g 1¢ v 2¢!
av S5¢ X All pass

Result: 5¢x by North +1 =+950
Result at othertable:5¥x-2 by East +300







